

$$y = \frac{x + r}{r^2 x^2 - r \cdot x^2 + r^2 x - 1}$$

$$D = IR - \left\{ 16 \frac{m}{r} \left(\frac{Q}{r} \right) \right\}$$

جمع شرایط منفرجه بر $x-1$ بخشیدیم

$$\frac{x^2 - 2x^2 + 3x - 10}{x-1} \bigg| \frac{x-1}{x^2 - 4x + 10}$$

$$\begin{array}{r} x^2 - 4x + 10 \\ \underline{-(x^2 - 2x^2 + 3x - 10)} \\ 3x^2 - 7x + 20 \end{array}$$

$(3x^2 - 7x + 20) : (x-1)$

$$\begin{array}{r} 3x^2 - 7x + 20 \\ \underline{-(3x^2 - 3x + 3)} \\ -4x + 17 \end{array}$$

$(-4x + 17) : (x-1)$

$$\begin{array}{r} -4x + 17 \\ \underline{-(-4x + 4)} \\ 13 \end{array}$$

پس جواب نهایی این است:

$$x^2 - 2x^2 + 3x - 10 = (x-1)(x^2 - 4x + 10) + (-4x + 17)(x-1) + 13$$

9

$$y = \frac{x + \sqrt{x^2 - 1}}{\sqrt{x^2 - 1} - 1} = \frac{x + \sqrt{x^2 - 1}}{\sqrt{x^2 - 1} - 1} \cdot \frac{\sqrt{x^2 - 1} + 1}{\sqrt{x^2 - 1} + 1} = \frac{(x + \sqrt{x^2 - 1})(\sqrt{x^2 - 1} + 1)}{x^2 - 1 - 1} = \frac{(x + \sqrt{x^2 - 1})(\sqrt{x^2 - 1} + 1)}{x^2 - 2}$$

$$D = R - \left\{ -1, 5, 6, -\frac{1}{10} \right\} \quad | \quad 10x^2 - 40x - 6 \rightarrow (x-4)(x+1)$$

$$y = \frac{x+1}{x - \sqrt{1-x}}$$

$D = (-\infty, \frac{r}{r}] - \{1, -1\}$ $\rightarrow$ $x = -1$ $y = -\frac{r}{-1}$

1, 100

$$y = \frac{x+r}{x-\sqrt{r^2-x^2}}$$

$$D = [\frac{\mu}{\mu} (+\infty) - \{1, \mu\}]$$

$$n - \sqrt{n^2 - r} \neq 0 \rightarrow n^2 \neq n^2 - r \rightarrow n^2 - n^2 + r \neq 0$$

$$y = \frac{\sin x}{1 + \cos x}$$

$$\begin{aligned} r \cos \alpha - 1 &\neq 0 & \cos \alpha &= 1 \\ r \cos \alpha &\neq 1 & & \\ k\pi, & \text{ ~~} \pi \text{ } \end{aligned} \quad \frac{\pm \pi}{r} + k\pi~~$$

$$\left. \begin{aligned} r k\pi + \frac{\pi}{r} \end{aligned} \right\}$$

$$2. \quad y = tqnm + r$$

$$\mathbb{D} = \mathbb{R} - \{k\pi, \frac{\pi}{2}\}$$

11 VCD

$$c. \quad y = \cos x + 1$$

$$\mathcal{D} = \mathbb{R} - \left\{ r \mid r < \pi + \frac{\sqrt{r}}{9} \right\}$$

$$y = \frac{\sin x + 1}{\sin x - 1}$$

$$D = R - \left\{ \frac{KTL}{\sqrt{r}} + \frac{TC}{\sqrt{r}} \right\}$$

$$n^2 - 0n + 4 > 0 \cdot (n-1)(n-2) > 0$$

$$\begin{array}{c} \mu \quad \mu \\ + \phi - \phi + \end{array}$$

$$\mathcal{D} = (-\infty, 1) \cup (1, +\infty)$$

$$n^2 - 9n + 0 < 0 \quad (n-0)(n-9) < 0$$

$$\frac{1}{1} \quad \frac{3}{1}$$

$$12 = 1 + 2 + 3 + \dots + n$$

$$x^2 + 9x + 8 \geq 0 \rightarrow (x+1)(x+8) \geq 0$$

$$\frac{-0+1}{+0-0+} \rho = (-\infty, -0] \cup [-1, +\infty)$$

$$n^2 - r n + s \leq 0 \rightarrow (n-1)(n-5) \leq 0$$

$$\frac{1}{4} \quad \mathcal{D} = [1, 5]$$

$$\frac{x^p - px + p}{x - a}$$

$$\frac{(n-1)(n-2)}{(n-1)}$$

$$C_0 = \frac{1}{-0.01} + \frac{2}{0.01} + \frac{0.01}{0.01} = 100$$

$$\mathcal{D} = (-\infty, 1) \cup (1, \infty)$$

$$\frac{n^2 - 1}{n^2 - 99}$$

$$\frac{(n+1)(n-1)}{(n-1)n-0}$$

$$\begin{array}{r} -1 \quad 1 \quad \omega \\ \hline +\phi - \phi - \phi + \end{array}$$

$$\mathcal{D} = (-\infty, -1] \cup (0, \infty)$$

$$y = \sqrt{\frac{x^2 - 4x + 4}{x^2 - 1}} \rightarrow \frac{x^2 - 4x + 4}{x^2 - 1} \geq 0 \rightarrow \frac{(x-1)(x-4)}{(x-1)(x+1)(x-1)} \geq 0$$

$$-\frac{1}{0} - \frac{1}{0} - \frac{1}{0} + \quad D = [1, 4 + \infty)$$

$$y = \sqrt{\frac{x^2 - 4x + 4}{x^2 - 1}} \rightarrow \frac{x^2 - 4x + 4}{x^2 - 1} \rightarrow x^2 - 1 \neq 0 \quad x \neq 1$$

$$D = \mathbb{R} - \{1, -1\}$$

ا) $y = \log \frac{x^2 - 3x}{x^2 - 3x}$ $x^2 - 3x > 0$ $x(x-3) > 0$ $D = (-\infty, 0) \cup (3, \infty)$

ب) $y = \log \frac{14 - x^2}{|x| - 2}$ $14 - x^2 > 0$ $|x| - 2 > 0$ $\begin{cases} x > 2 \\ x < 0 \end{cases}$ $D = (-4, -2) \cup (2, 4)$

ج) $y = \log \frac{x^2 - 7x + 12}{x - 3}$ $\rightarrow \frac{(x-3)(x-4)}{x-3}$ $\frac{x-4}{1}$ $D = (4, \infty)$

د) $y = \log \frac{x^2 - 11x + 28}{x^2 - 11x + 28}$ $\rightarrow (x-7)(x-4) \geq 0$ $x \leq 4$ or $x \geq 7$

$$y = \frac{x^2 - x}{x^2 + x} = \frac{x(x-1)}{x(x+1)}$$

روش آیتامانی

x	-1	0	1
$x^2 - x$	$+$	$+$	$-$
$x^2 + x$	$-$	$+$	$+$

$D = \mathbb{R} - \{-1, 0, 1\}$

$$y = \sqrt{\frac{x - f(x)}{f(x)}} \quad -1, 2 \leq x \leq 4$$

$$\frac{x - f(x)}{f(x)} \geq 0 \quad f(x) \neq 0$$

$$D = (-2, -1] \cup [2, 4]$$

